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saszmiaazy MAT %KQ

0 CHE2 Ml =2 SLRILICE Alktsto 270 HEE 1EAL. (1~15)

1. 94 — (46 + 21) =

0923 D2 O092 O3 O35
2. 260 — (25 + 85) = 0D 140 0 145 0 150 0O 155 0O 160
3. 15% 6 x 4 = 0D 350 0O 355 0O 360 O 365 O 370
A. 19 x 5 x 8 = 0 460 O 480 O 490 O 500 O 510
5. 32x 6x5 = 0960 DO 965 O 970 O 975 O 980
6. 42 = 6 x 4= D98 D032 03 038 0O 42
7. 23 x 98 = 7) = D65 D075 08 092 097
8. 25 +13 x 4 = 074 077 08 O 8 O 87

9. 16 x 7 - 48
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10. 60 x (7 + 49) = 0 2940 0O 2950 O 2960 O 2970 O 2980
11. 4 +14) x 9 = 0162 0O 164 0O 167 O 170 0O 173
12. 53 - 16) x 8 = 0 986 0 296 0O 306 O 316 O 326

13. 78 = 3 + 45
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14. 43 + 86 ~ 2 = 08 08 08 09 0ol

15. 198 = (21 -12)= 019 ©22 02 027 029

4
R
©
il
|
N



16. Fag gop( )arel Boiz
3,6,9 (), 15, 18, ( ), 24, 27 -
0 33 0 35 0 37 0 39 0 41

17. 131 2 Ajojo] 9= Bt wE @ A2

6 9 1r 3 5
T8 712 27 3
O 17} O 270 O 374 O 47) O 570
18. 4ot wmda 6748 Sof Qe 1 1849 F2 19S Abx 82009
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19. msa9 ko= 18Tm, BY S Rol: 350mYYrh EEAE
B SARET B mESU7E?
0O 827m 0 837m O 847m O 857m 0O 927m

1, 2, 4, 8,16, ( ), ( ),128,
0 32 0 64 0 198 0 512 0 2048
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F2. [&0]]  (@H7F vRA 2249 )= 0.2+0.12=0.32(L)
(A&7} upal S&22=0] oF)= 0.32—0.13=0.19(L)
e S840 9= 1.5-0.2—0.32—0.19 =0.79(L)
=] 0.79(L)

F3. [Ee]]  10-2+48=160M)= 270l 2= AR olB= 3 WY 16+2=8
(7)) olch. whEhA, FHIFE AP 4= 8X10=80(7) o]t}
[4=] 8074
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109+ 9] SE 42632 4260000090] 3
19k Aabe] 2w 8287442 8287400009 Ut

wehd, 9% &3 =& 42600000+828740000=871340000()<]

ytt,
871340000(g)), 87X 13A149H(Q)

HA] 5700004 H4 4HES FHolx Alo] 61400] == Yoty Th
6140 — 5700 = 4400122 4% T olx 4400] AXHH 1104
Hojok gyt

wheba] 5700004 1104 3 H 4 @2 5700 + 330 = 603044t}
%, 5970004 FHojA Al ﬁ% H 6810 — 5970 = 8400|2& 4¥
Holal 8400] AAHH 2104 Holof T,

upaba] 597004 2104 &t tﬂ HolAd Al 4= O 5970 + 210 =
618044},

I9E=E, & 49 2= 6180 — 6030 = 15044t
150

= 5 $) = 2.85km + 2.1km = 4,95km
(L3]9} 2A=S E5 ) = 2.17km + 2.58km + 1,92km
6.67km
6.67km — 4.95km = 1,72km
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